(ii) This is a special case of (i).
(iti) We have that

r=y(modm) Vie{1,2,...,r}
en|z-yvie{l, 2, ..., r}
& m,ng, ... 0 |z —p
w@r=y(mod [n,ng ..., nl).

Corollary 12,14, Tokene N, If ay, ay, ..., a,-y 15 a CSR modulo n, then so is
Aag, Aay, ..., M,y

Jor each X € I such that (A n) = 1.
Proof This follows from Theorem 12,13 (ii).
Example 12.15, We have that 0, 1, 2, 3, 4, 5 is a CSR modulo 6. Since (5, G) = 1,

0, 5 1W({=4(modE)), 15(=3(mod6)), 20(=2(modE)), 25 (=1 (mod b))
is also a CSR modulo 6. Since (3, G) = 3,

0, 3 G(=0(modt)), H(=3{mod6)), 12(=0{modE)), 15 (= 3(mod G))

is not a CSR modulo 6.



